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ASIH LTI & E ALY 51,000 56,400 A5,400
AL & A R AFY 51,000 56,400 5,400
AMSIELATI2IAIY 29 51,000 56,400 A5,400
307 QIz2t0|A 51,000 56,400 A5,400
02 QZ2ZHEAEZX 51,000 56,400 25,400

OAM3IEL X2 ALY 50,000& x85H «12& 51,000
NEEXNMHIAS A 158, 129 234,421 NT6,292

= 125,303

= 15,663

iy 17,163
X=X A 158, 129 234,421 NT6,292

= 125,303

= 15,663

o 17,163
AL AHHIASEA X2 158, 129 234,421 276,292

= 125,303

== 15,663
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Ho: A= X A AR
CHl: X SR AIHI A S A (el & e
SN BB CR(B) - HEAY - BES 0f &k e Hms2
X=X AHASA X2 = 17,163
202 OofHl 1,500 0 1,500
01 =2UH0id] 1,500 0 1,500
OXN A= MU ASHMALSE X CE 20,0002 * 12 53] 100
O XH=X AU ASA A DS E A0 70,0002 <22 »103| 1,400
307 22Ol H 156,629 234,421 ATT, 792
= 125,303
=3 15,663
z 15,663
02 QIAAAEX 156,629 0 156,629
O X=X MHIA SXAY (223%) 156,629,00084 156,629
=2 125,303
= 15,663
z 15,663
Col Y AW =X 11,764,231 8,674,201 3,090,030
=2 8,595,919
z 10,000
= 648,650
3 585,607
= 1,924,055
Col=x X 585,302 1,274,093 688,701
= 249,506
3 101,418
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SN A= XD
Ha: Lol Y AW =X
S o= XIKIR (ol mel
SA-ZBH-SA(SAH) - NRAY - BE= Ofl &+ 9K gggf; HlwS2
RIES P 2 234,468
ol SR0IHIRH X 80,612 150,649 £70,037
=2 65,041
= 7,585
2 7,986
202 01l 400 0 400
01 2ot 400 0 400
O LOE20l ¥ LAY I YRR 0| 20,0008 * 18 * 203l 400
307 RI2HOIH 80,212 150,649 A70,437
= 65,041
= 7,585
2 7,586
05 I2teIEta 80,212 150,649 AT70,437
O LOS20IH2HAL 238,726% * 28% * 122 80,212
= 65,041
< 7,585
2 7,586
Lol X2l Al 368,930 349,130 19,800
= 184,465
= 92,233
2 92,232
101 Q1244| 262,130 349,130 87,000
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S ARSI Dt
B ol o HAW =XEA
el ol = X X (el x
SH-HH . H(BH) - HRAY - B2 Ofl AF o4 (%ggi; HRE2
101 el H| = 131,065
& 65,533
i 65,532
10 JIZtHZ2Z2NSE+x 262,130 349,130 287,000
O LolgdXielAtd ol Al 262,130,000& 262,130
= 131,065
= 65,533
2 65,532
301 et 4 =S 400 0 400
= 200
= 100
= 100
10 AIAHIE &= 400 0 400
O LolgdiielAtg ZA=Z 100,000& = 2H * 23] 400
= 200
= 100
s 100
307 RIZH0IH 106, 400 0 106,400
= 53,200
& 26,600
i 26,600
02 PItAASX 106,400 0 106,400
O LolgdXiel At of 200,000& = 76 = 7& 106,400
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SM: AE =2 X
HH: Lol Y AW =XEA
Chel: L ol= RIX (chel g
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 53,200
T 26,600
= 26,600
BHIOI A H =0l MAFGHAY 3,200 3,200 0
= 1,600
iy 1,600
301 EtgAZ 3,200 3,200 0
== 1,600
iy 1,600
01 A E&EE56= 3,200 3,200 0
O BHIOIA B0 MAIMAHASLI] AFY 20,0003 = 160Y 3,200
== 1,600
o 1,600
Lolold ALK& 21,950 19,440 2,510
201 B2 HH| 750 720 30
01 AtR2t2ld] 630 600 30
O Lolo & AL =X 0fAlH| 7,000& * 3% x 30 630
03 SHAISHHI 120 120 0
O ooy Eeiate ¢ 60,000& = 2004 120
202 O4d] 1,200 720 480
01 =Wobl 1,200 720 480
O Loloe siAl =& (| 20,000& = 3H x 203 1,200
307 QIZ2t0| A 20,000 18,000 2,000
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O HEgHL0 BHLITI| X 120,000+5002 60,000
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02 QIAAMEZE 19,500 0 19,500
O 22g sslZzagneX A2 1,500,008 * 138 19,500
oI X AlA KR 1,596,723 1,060,451 536,272
=2 30,000
2 638,846
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= 160,660
= 38,275
o 144,005
301 LEtE A2 337,940 317,200 20,740
= 160,660
& 38,275
o 144,005
01 A EEE6= 337,940 317,200 20,740
O dz4 29| 720,000& * 277H A 199,440
= 80,330
== 33,275
o 85,835
O dz g Lety| 500,000& * 2772 138,500
= 80,330
o 58,170
AZEINEL AIE 18,045 17,700 345
201 B2 HH| 945 900 45
01 AtR2t2ld] 945 900 45
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01 =UW0oibl 630 630 0
OLCANOIE=Z el S50 70,000& = 3H = 32 630
307 2120l A 6,250 0 6,250
02 2IAAEX 6,250 0 6.250
Ok Xs&EI| HOESUS 4,500,000& * 13 4,500
OZ XAl HOIEESUE &4 10,0008 * 70H * 13 700
Oousgtl AOIE=US &4 70,000& = 15& * 13 1,050
colE=dy 10,300 7,400 2,900
202 O4dl 300 400 A 100
01 =LHHYI 300 400 A100
O elthst 28 F& 0ol 20,000& » 1&H » 153 300
307 QlZtold 10,000 7,000 3,000
02 QlztAAEx 10,000 7,000 3,000
O elthst 23 10,000,000& = 1JHA 10,000
Lo =EXz2 24 21,970 23,600 A 1,630
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A At S X1
g e & 348 =S8
el LSXAEXE (chel: =3
= _ — HUE &
SA-EH-SRABA) - NEAMNY - BES Off &F K lOﬂ/l\_Fgﬁ HwsZ
O g8z o3 29| 200,000& = 12902 2,400
O g=u4d =29 25,0003 * 60 1,500
O AMolna =24 3,500,000 * 12 3,500
COIMEAIY K& 756,032 368,943 387,089
= 478,186
& 127,192
= 150,654
307 2120l & 756,032 368,943 387,089
= 478,186
< 127,192
= 150,654
02 Q2FAAMNExX 756,032 368,943 387,089
O olMEAE 23| 735,670,000& * 1JHA 735,670
= 478,186
= 110,351
s 147,133
O Lel=sXAE SEES4I 3003 53 = 365 5,804
& 2,902
s 2,902
O Le=sXAE &3S 55,000& * 109 550
< 275
[ia 275
O LUSXAIE ESHRAI 12,980& * 53Y 688
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M A2 S X
Lo g 3ad EX858
& S=EXAEXZE CEREE
A -H2A(EAH) - MY - BES O AkR gggﬁ HusS
< 344
o 344
O LolMEAIL SMA EESY 13,320,000& * 10024 13,320
[ 13,320
MOt =XAE K& 370,396 105,040 265,356
< 77,791
G 292,605
307 21201 A 370,396 105,040 265,356
[ 77,791
o 292,605
02 QItHAEX 370,396 105,040 265,356
O Motel EXAIE 23l 365,756,000& * 1JHA 365,756
[ 73,151
o 292,605
O Motel SXAE SAR EEH 1,160,000& * 4% 4,640
[ 4,640
COIQSAL FH 2 60,000 200,000 140,000
= 30,000
== 15,000
ha 15,000
402 QI2btE0l M 60,000 0 60,000
= 30,000
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HH: Lol 9 HAE SNSN
@SRl LASXAIEXIR CEREE
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402 QI2tXE201H = 15,000
2 15,000
01 DIZREEE 60,000 0 60,000
O A2 QAAE &Y 22 60,000,000& = 14 60,000
= 30,000
& 15,000
i 15,000
HAes sHe & 9,436,536 6,234,581 3,201,955
= 8,315,713
= 9,804
& 228,731
= 882,288
Z2AY R34 JA(BX) 53,768 53,768 0
= 9,804
& 8,361
i 35,603
307 2I2t0l& 53,768 53,768 0
= 9,804
& 8,361
= 35,603
02 QUAABNMEX 53,768 53,768 0
O Z224AY =4 2,0683 » 104% = 250 53,768
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Hal: ol Y HAW =X
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SA-BH . (BH) - HIRAY - BES Ofl &F o8 %g;ﬁ; HDnz2
= 9,804
= 8,361
2 35,603
Y2AY 2234 N 6,620 6,300 320
201 Yer2gy| 420 400 20
01 At 2tel| 420 400 20
O F2AY 2% AL O4AY| 7,008 * 2% * 302 420
202 Oft| 1,200 900 300
01 =Lhotbl 1,200 900 300
O F2AY 2% = oY) 20,0002 * 3% * 203 1,200
307 PI2HOIF 5,000 5,000 0
02 SIANFAEE 5,000 5,000 0
O F2AY 2| 2,500,0008 * 2K A 5,000
HESE Wl AAHE X 14,564 14,564 0
= 2,161
2 12,403
307 LI2t0IF 14,564 14,564 0
= 2,161
2 12,403
02 SIAFAEE 14,564 14,564 0
O HESBUII=Q! AAHZ 8,644,0002 8,644
= 2,161
2 6,483
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gz Lol ¥ HAaE =sX8d
@t HAas sHE XF (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O QMO RAE FH=20l AAHE 7,000& = 50H = 153 5,250
O &MY SAIEE 2L 10,0003 * 67K 670
=gz Xd 9,121,702 5,886,342 3,235,360
= 8,208,047
= 182,401
= 731,254
201 et 1,350 0 1,350
01 AtR2cldl 600 0 600
O J=gegRFd Z2HEH ¢ 300,000& = 2JH 600
02 3324t 750 0 750
O JlIz=kg8z=kag SAAM &€& RER=S 2503 * 3,000 750
202 O4Hl 300 0 300
01 =Wobl 300 0 300
O Jlz=kgdz gFF8 ol 20,000& * 1€ =153 300
301 et a= 9,120,052 5,886,342 3,233,710
= 8,208,047
L= 182,401
i 729,604
01 AlI2EA=63 9,120,052 5,886,342 3,233,710
O Jlz=kgd¢= N 9,120,052,000& 9,120,052
= 8,208,047
< 182,401
i 729,604
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ny,

o
=PNERE(ES
SEALQ XE

SN HE - SI(E) - NRAY - BES &k oy e =2
SHLEQIMET A THA K& 145,382
= 107,666
= 13,458
= 24,258
101 QI24H| 145,382
= 107,666
= 13,458
= 24,258
10 JIZtH2=AHsSE+ 145,382
O SAHLe AblAztelk &g 1,200,000& = 1& 1,200
O SHEe M| &S 600,000& * 169H 9,600
O SHEQ MES2[A TtA 129,600
- MHIA 22l Xt 1,200,000&  1¥ 123 14,400
= 11,520
= 1,440
[ 1,440
- MEe| AL 600,000& * 16H = 12& 115,200
= 92,160
= 11,520
i 11,520
O SHLCl MEACIA AIIEE 293,058& * 179 4,982
= 3,986
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307 SIZ2t0l™ 15,000 18,000 A 3,000
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== 14,850
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01 AlSI2XHAH2 58,500 58,500 0
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= 43,650
SN JPACHMXIED| A XA 18,000 0 18,000
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= 2,823,626
S 1,411,812
= 1,413,152
SEFANE 2&H N 3,512,544 1,141,968 2,370,576
= 1,756,272
e 878,136
= 878,136
307 2120l & 3,512,544 1,141,968 2,370,576
= 1,756,272
S 878,136
= 878,136
02 Q2rAAMEX 3,512,544 1,141,968 2,370,576
OEFAIE SAHAF o124| 17,204,487x197H 3,389,284
= 1,694,642
= 847,321
[ia 847,321
BSAE AUHATEHAE ESWAF 12| 13,825,000%4 & 55,300
= 27,650
S 13,825
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i 13,825
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= 1,500
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Oxte2 gl 2,400,000 *10JH & 24,000
= 12,000
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i 6,000
HNASE B2 K& 1,637,866
= 818,264
& 409, 131
i 410,471
201 LBt 3| 1,060
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OE=Z2 =& Al 7,000& x2H x50 700
02 S=2Z4l 360
OESAE BEX3 B2 €85 2H F 250& * 1200 2+ 12 360
202 O4dl 280
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A ARSI
g B, od=1138d

SR BESAHA S& (&t &2
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
01 =2UWoddl 280 0 280
OESHREEA A& &AM 70,0003 x2H #23| 280
307 QIZ2t0|A 1,636,526 1,680,396 A43,870
= 818,264
= 409, 131
o 409, 131
02 QI2ZHEAMEX 1,636,526 1,680,396 A43,870
ONAES BE2 XA (15~53) 3,253,333& *75H 244,000
= 122,000
= 61,000
= 61,000
ONASE B2 XNL(28) 4,027 ,687& x300H 1,208,307
= 604,153
== 302,077
o 302,077
ONASZE 282 X2 (38) 1,818, 181& »40H 72,728
= 36,364
T 18,182
= 18,182
OMAEE E22 XNH(4E) 981, 132& *80H 78,491
= 39,247
o= 19,622
= 19,622

_46_




SA ASISX 0
g B, od=1138d

S BEAMHA A (&t &2
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
ONASZE B2 N2 (58) 600,000& x55H 33,000
= 16,500
= 8,250
= 8,250
00 RABE=ERE 9,264 12,780 N3,516
= 4,632
& 2,316
o 2,316
307 QI2t0| A 9,264 12,780 N3,516
= 4,632
= 2,316
o 2,316
02 QI2HAAMNEX 9,264 12,780 N3,516
O&OHoF 24 B2 X 4,632,000 *2H 9,264
= 4,632
== 2,316
o 2,316
SAE B2 104,868 87,560 17,308
= 52,434
& 26,217
o 26,217
307 QI2t0|A 104,868 87,560 17,308
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SM: AE =2 X
M B=IIE, dsA35&
CHelr BRAHIA EA el H )
= CEERI(BIH) - IS A Atol e =32t
307 QIZ2to| A = 52,434
= 26,217
o 26,217
02 0I2tZAE X 104,868 87,560 17,308
OFXHOI & 2 & 1,519,826 & *69H 104,868
= 52,434
& 26,217
o 26,217
5NIOF RABEEZ 313,804 259, 160 54,644
= 156,902
== 78,451
iy 78,451
307 QIz2t0| A 313,804 259, 160 54,644
= 156,902
= 78,451
o 78,451
02 QI2HEAMEX 313,804 259, 160 54,644
OBL5H4 01 S 4t el 2,064,500& *152Y 313,804
= 156,902
o= 78,451
= 78,451
ERAE "HOloIs X 10,500 10,500 0
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SA ASISX 0
g B, od=1138d

CHelr BRAHIA EA el H el
SN EY O (BH) - MR - Ba= 01l &k o e =2t

EsA4 Boels XN = 5,250
& 2,625
= 2,625

307 2I2t0lH 10,500 10,500
= 5,250
& 2,625
= 2,625

02 QItFAE X 10,500 10,500
OEFAIE gotels K& 250, 0003 x424 10,500
= 5,250
= 2,625
o 2,625

A4 JIsEZ 30,000 30,000
= 15,000
& 7,500
i 7,500

402 RI2tXH=0IA 30,000 30,000
= 15,000
& 7,500
= 7,500

01 BIZEAI=22 X 30,000 30,000
OBSAE JIsEZAE 30,000,000 *1JH 2 30,000

_49_




SA ASISX 0
g B, od=1138d

ol 2RAHA B3 (69 &2
SA B (BH) - MRAY - B2 Ofl At o glggi; Hnz2
= 15,000
= 7,500
= 7,500
A& D08 ¥F4Y 29,744 0 29,744
=2 14,872
= 7,436
2 7,436
307 I2H0IH 29,744 0 29,744
= 14,872
= 7,436
2 7,436
02 QABMLZE 29,744 0 29,744
(0594, 880%50 29,744,000 29,744
= 14,872
= 7,436
= 7,436
OlMZAGNIY WK 25 79,918 76,988 2,930
=2 43,879
= 17,940
2 18,099
tEE ALY N 59,376 57,870 1,506
=2 29,608
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SA ASISX 0
g B, od=1138d

CHol: Gl ZAW R LA 25 (crel
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
IIEESH MAEA2H I = 14,804
o 14,964
202 O4d] 160 0 160
01 =LHoibl 160 0 160
OJIEEH AEA &, HHER2 =& 0y 20,0003 x2H *43| 160
307 QIZ2t0| A 59,216 57,870 1,346
= 29,608
== 14,804
o 14,804
02 QI2ZHEAMNEX 59,216 57,870 1,346
OJIE=Z Ags 29 A& 59,216,000& x 14 A~ 59,216
= 29,608
= 14,804
= 14,804
&= mOiofAH X 20,542 19,118 1,424
= 14,271
== 3,136
o 3,135
301 EtgAZ 442 448 AB
= 221
= 111
o 110
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SA ASISX 0
g B, od=1138d

&R dZ=EX2 DlohAt 2= (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
10 SAIAHIEAS 442 448 ANS
OWEZSSAML LS 442 ,000& 14 442
= 221
= 111
i 110
307 QIztoIA 20,100 18,670 1,430
= 14,050
& 3,025
= 3,025
02 QltHAEX 20,100 18,670 1,430
OJtoll At &, Xzgals T2 24| 20,000,000& * 104 A 20,000
= 14,000
= 3,000
i 3,000
OWdZSToi At 2 =H| 50,000& x2H 100
= 50
= 25
i 25
odo AlIEN s X3 50,980 56,205 AN5,225
= 10,050
= 40,930
HEHME St ANGSHFTHZEA 5,000 5,000 0
L= 2,500
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FA:
X XH .
o Tt

o2l

At2l = X 2t
EFIE, d=Nsd

Hdol A3 g3 K&

m

0
r
0

[(S1) - MS A 849 Ak gggﬁ =2t
HEHHE S& NGSUIHZE = 2,500
307 elztold 5,000 5,000 0
= 2,500
o 2,500
02 QZrFAAMEX 5,000 5,000 0
OdHHNE S oz =8 5,000,000& » 14! 5,000
= 2,500
i 2,500
Hd0l¥0lS 2HE 3,500 3,500 0
= 1,050
= 2,450
307 elztold 3,500 3,500 0
s 1,060
o 2,450
02 2I2tFaEx 3,500 3,500 0
O4dolzors 3,500, 0003 * 14 2~ 3,500
= 1,050
[ 2,450
HdXASA K& 2,240 8,240 26,000
202 o4l 2,240 2,240 0
01 =LHOIHI 2,240 2,240 0
OXNESAH & = B 70,000 x2H x162] 2,240
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COANRISXI3
EFIE, HE=X

DAL AlRIEN %‘g | & (el &)
SN EB - SR(B) - MRAY - BES sl S B DS 2
Hens 2 ALK 13,890 21,465 AT,575
201 LetEd] 2,480 2,405 75
01 AtS2eld] 2,480 2,405 75
Odd w=s 2 AL HR =& 0faldl 7,000 x2F 120 1,680
Oddzte sl OHE Wbl 800,000 » 14! 800
202 O4dl 2,450 2,100 350
01 =2UWabl 2,450 2,100 350
Odus & 215 A 21E 0| 70,0003 1 x253] 1,750
OU=E3otd 2 &AL 215 o 70,0003 12 x103! 700
206 M =4l 800 800 0
01 T=ZHl 800 800 0
OWd M nE M= 800,000 » 14! 800
301 ZetE 4= 8,160 8,160 0
10 SAIAHIEAS 8,160 8,160 0
OAtZl LS ZA = 100,000& «2H +203] 4,000
Od3Sugus 2A =2 200,000& +2H 23| 800
OW&HH 23 u=s 2 32 &4 ol 70,0003 *4ZH x73] 1,960
OUZstd 2d 2E A A o] 70,000 x10H *23 1,400
o = 2L AL 13,000 0 13,000
307 QIZtolA 13,000 0 13,000
04 GCIZtHALE X 13,000 0 13,000
O & T2t AL 5,000, 000% » 14! 5,000
OWEXN XL = 200,000& 40 8,000
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2N

At2l = X 2t

g 205, od=188
el O1MOl AIBIEO B E NY el H
CERI(B) - HIBAIY - Ba S &k oy e =2
HeXgEdus 12,350 A 650
& 6,000
= 6,350
202 O4Hl 350 350
01 =Wobl 350 350
OWdAgEd & 70,0003 12 +52] 350
307 QIztoIA 12,000 12,000
= 6,000
= 6,000
02 QItFAE X 12,000 12,000
OWdAgEH 12,000,000& » 14 12,000
= 6,000
i 6,000
O&HOtR= 1,000 1,000
= 500
= 500
307 QIztoIA 1,000 1,000
= 500
= 500
02 QltFAEX 1,000 1,000
OW4HOtn= 1,000,000& *14! 1,000
= 500
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SA ASISX 0

¥y BRI1E, HE=XEX
SR A9 AIFEN &= X (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 500
Nas 2EIIHE SIAHA & 296,762 311,943 AN 15,181
= 20,521
= 108,441
& 84,238
o 83,562
MNAS2 2XIHEXEH 60, 162 70,162 A 10,000
== 30,081
o 30,081
301 LEtEAZ 60, 162 70,162 A 10,000
& 30,081
o 30,081
01 MIBEHHZ2 60, 162 70,162 210,000
OMEord 2 30,000 x 120 »12& 43,200
o= 21,600
= 21,600
OoXEHus X2 1,000,000& *10H 10,000
o= 5,000
= 5,000
O0ts = 9,120& *15H 128 1,642
& 821
o 821
Os1M WS 216,000& x20H 4,320
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SA ASISX 0
g B, od=1138d
el MAS 2RUHE SXIAMHA X (

m
0
F
o

SN HE - SRI(BH) - MIRAE - o

e
Ol
0y

0x
Jio
=
P
12
2A
R
JeH

2,160
2,160
OFMIIE M3 500,000 27t 1,000
500
500

M

Mo

to
>
HT
fob
=
x
Mo
02
Pl
o

210,945 210,785 160
108,441

HL

H

51,591

A

50,913

202 044l 160 0 160

01 SUWobl 160 0 160
OZXESAIE X 20,0003 x2H »43] 160

H
0
0¥
it
10
3
[Pl
=
[

307 2120l A 210,785 210,785 0
108,441

HL

H

51,591

A

50,753

o
(N

=)
¥
oy
0z
H
FA

210,785 210,785 0
147,773,0003 * 100 & 147,773
103,441
22,166
22,166
OSIAXEHERZ 2,000,000 x5 10,000
5,000

[

O
H
pal
HI
fol
=
x
H0
02
==

M A

HI
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A ARSI
g B, od=1138d

Bl MAS DEXOIE SXAHIA NS Chol 7 2
SN BB O (SH) - MRAY - HES 0l o e =
= 2,500
o 2,500
OBXUESAIE A4 23| 8,000,000 * 101 A& 8,000
= 4,000
o 4,000
O0tsale 2l 40,0003 45 1,800
& 900
= 900
OF3—8=F_Ju] 83,6923 x39H 3,264
& 1,632
i 1,632
O==sI({ &it| 50,0002 *10YH 500
= 250
o 250
OdtAHE = I 30,000 *45F 1,350
= 675
o 675
OO0ts2HAHI 182,473& *38Y 6,934
& 3,467
i 3,467
OEERAH| 109,506& *73% 7,994
& 3,997
o 3,997
OBXNESAE SALN EExE 76,0003 x5 123 4,560
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COANRISXI3
CESIE, =088

A5 BEUNHE sAAMEA X& CHe &
2l (3171 of . Bl Atol e =32t
T 4,560
18,610,000& x1& 18,610
= 7,444
= 11,166
St 25,655 24,996 659
= 20,521
& 2,566
o 2,568
25,655 24,996 659
= 20,521
= 2,566
o 2,568
NSRS 25,655 24,996 659
OstE2IHS E| 600,000& x34H 20,400
= 16,320
== 2,040
o 2,040
SHEEIIE 1) 1,051,000& x5 5,255
= 4,201
T 526
= 528
AHS 21,000 16,500 4,500
A9 7,500 3,000 4,500
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2A:
X XH -
(=R BN

&

At2l = X 2t

=

25D

22HE NE

m

40
o
{0

- SRI(2IAH) - MR A

z
J2

=3yl
[Ralim
12

Ol
0

307

7,500

3,000

4,500

25,0002 *3007} 7

7,500
7,500

3,000

4,500

13,500

13,500

13,500

13,500

30,0002 #1500+ 2 *3 2

13,500
13,500

13,500

noowW

M

296,385
142,188

39,499
114,698

296,385

20,000

20,000

20,000

20,000

10,000,000 * 14

10,000,000& * 14

10,000
10,000
10,000
10,000

10,000

10,000

H

A

18,060
9,030
9,030

18,060

H

18,060
9,030

18,060
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2N

At2l = X 2t

dM: EFI0F, 4g=Xsd
cel: U2 IEARSY chol &
SN EY O (BH) - MR - Ba= Aol e =2t
301 Let2 A3 = 9,030
01 A2 H =063 18,060 18,060
OUZeItE el A3 XI& 1008 = 15,050& = 12& 18,060
o= 9,030
i 9,030
Ct2stIE X & M 203,125 203,125
= 142,188
& 30,469
= 30,468
307 2IZtol& 203,125 203,125
= 142,188
& 30,469
i 30,468
05 QIZIRIEZ 203,125 203,125
O =2sItEXJMEH 29| 70,000,000& * 1JH2 70,000
= 49,000
& 10,500
o 10,500
OU=23E Y2 WSAY 133,125,000 *1Jf A& 133,125
= 93, 188
o= 19,969
o 19,968
55,200 55,200

Ch23Hd XI&
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SA ASISX 0

HH: H8IIE, OH=XEA
& ORIz HE=EH (el &)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
307 212t01 & 55,200 0 55,200
02 QltHAEX 55,200 0 55,200
Ot=3otE &ELIS0l & =AY 20,200,000 * 14! 20,200
OU=23tE 2HEGAIE =24l XI& 300,000& = 50 15,000
OXZTHMHLI(HE) ZHAMS 200,000& = 80 16,000
OUZEetE HEgusd HoAd 44X 4,000,000% =14l 4,000
HY2AZH (AtZI =X 1) 25,200 23,640 1,560
ol 2| 3,000 3,000 0
ol 2g| 3,000 3,000 0
203 LRF&Hl 3,000 3,000 0
04 RENMSIHRFLEY 3,000 3,000 0
O BA2IHRFEHI 250,000& x12& 3,000
Jledul(Atel =X 22,200 20,640 1,560
Jl=2Z 4 22,200 20,640 1,560
201 ptEg| 9,720 9,120 600
01 At22eld| 9,720 9,120 600
O Z2MSgHI(=8Hl S) 50,000 x 13 123 7,800
O &, 8,28 252 160,000& =123 1,920
202 Oidl 12,480 11,520 960
01 =LY 12,480 11,520 960
OSEgHEHE JI2YR FA0H 80,0003 x13H +12& 12,480
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